il N e

“2020 FEEMBRELEBELSE” NERZE

W44 5 SHIES Y B E B
EEA g'e 13020kt 422 1 =itk
JE 3 1 5 4103 2ssckokototokeiek 7510 e
FE BT 7 3703 24kkxAkkx4002X A

X2 5 3607 3tk | 732 itk
S 7 410505k ks0k8 4345004 P AAR=A
KI8T Ay 51080k 0027 A
JE T 8 41 140%kk30k8kk 1 02X FaR=aT

A g'e 14060kt k8526 =itk

Lol i 34262 kx5 kx6840 =B
F R 1 2301 0skksictoteoraickok 0828 =i

VA 5 5106 2skskskskskskskskok 39 1 4 2R
i S % 21100%k#kk55%0325 =it

T 7 3209 2skksskorsioniek 1 746 =itk
= 5 4404 0%skskskskskokokk9 177 2R
AE ik Jfe 7 0138 2kkkkkkk%0048 A
)y 1 5 6201 0kskionink3017 AR
B I 4103 0sskskskskskskskek (0549 A

i 1 51152ksktoksiokk4065 =it
F AR 5 1301 8ksktotototoeiek6419 e
o= 7 3307 2tttk 0063 =itk
MiF T 7 42108*kskkAkkokk k762X FaReaT
B 0 g'8 5001 0skssk4k+0029 TR
IR A Iy 41062skskkskokokokok 4028 2R
B fir o Iy 2107 2skskskskskskskokok 062 1 2R
Rl I 4301 2sskskskskskskskk 5869 A
YA 5’ 51010kttt 004X FaReaT




RIS 1 51010%kskkk%5£2626 E e
ot g'e 1301 0sstesteseorsiestek 094X =itk
T 5’8 23090skskoteksictokok 0327 e
fif 7 32038tk 702 1 EaR=aT
5 it 57 500 1 0tk 560x =itb
P I 2101 0skskskskskskskskok 5629 A
e i 620 1 Osotksorsorr 3044 =B
o HLGE 4 421 1 23kskkokk 0022 AR
F A5 g'e 513005kt 0027 =itk
W © 3709 1 #ksotsorok0426 itk
e £ 4111 2skkkskskkok6603 A
25 4 i 4307 2#4kk5855%0026 =B
A5 HE P % 37080kHkkpkk%3621 AR
¥ 51 7 0101 Okkskstctolokakk [ 522 EaR=aT
REE 8 3T110%kskkk0kk 4424 FaR=aT
2k 0 5’8 5003 8sksttekstiokek 5626 A
S 1 5107 2skskskskskskokokok 242 1 2R
XIS E 5 3713 2skkstlototokok 8522 EaR=aT
BREATR Iy 23030%kksksksiskokok 52X A
Ik « 3708 3sksoksokonk 1 783 itk
R 7 3107 8kksktsdokkokk [ 364 EaR=aT
= ¥ u 5115 2skksekstoionesk 072X E
St 5 37060%kkkkskskokok49 16 A=A
AT 5B 53242tttk 0037 =
2SR 7 43068tk 36X =itk
Mk & 5’8 5107 2skkktoksiciokk 8806 A
22 ik 5 32100%ksks0k4 0632 itk
HE 7 5111 0%tttk 0721 =itk
T Iy 43030kttt 1 289 s
N2 g’y 4127 2k 352X T




25 ki 5/ 3604 0kkkskix0021 =B

&35 £ 3624 2ssksksttoksiokok 7724 A
J7 e /8 3702 Iotiortiork3525 AR

%% C2 34262%xkkkkkH%2116 =it
WL i 4524 2xk53855%0029 =B

E | i 3401 2skkkoakir2422 =it
25 I 55 §iq 51 102kkpk54k%00211 TR
T Iy 35052%ksksksksisiskok ] 02X A
ALY L8 35082xksicictotolok ] 544 ikl
i 5'e 4407 Iwkskiokiork3968 AR
FAER 574 50024skkkkHx3286 =it

R Ay 3604 8sksksksokstorksk 0086 e
RS 2R 5 42100%kskk3kkx451 1 EIE
—FF 5°8 33092:#kkkkskkk002 1 A

B i 51032sskkkk5%8600 =B

W #% 574 37028 kKt x6 747 =it
i 13 5 3501 0tttk 28 1X AR
X6 C2 37098 skkkk4x5318 =it
&IPS 5/ 610323 kkkakix3824 =it
oK 574 341 223tk 7922 =it
YN g'8 51303skkkkiorkx2821 TR
] §/s 3301 0sstsronkox 0826 =B
etz «© 43030xseteletetereiek0069 iR

JEI 3 /8 33088stottotiork3] 24 AR
F 4G i 4104 2%Fskk854%9527 =it B
ek % 5101 2skkkkikkx 1923 TR

25 1 5325 2skskskskskskskokok 0060 A=A
KU L8 371 42%icicololek 4626 iR
B LY 4 150203kttt 2428 =it
LI I 4301 0skskskskskokskkk 1 026 A=A




palpiicyia 7 37028tttk 004X =R
Brim 7 34292 Fkkkkkk k4727 =it
B 1 41282 %5k %30k %34k2929 e U
K 9w 34082skkstototorsiek 041 1 EaR=aT
1) 36 5y 32092k kskctoksokk 9025 FaReaT
wE i 51392kkkkx4949 =it
¥4l 5 41032k 9887 =R
[iE=$aE L 5001 0%kskskokotoeok64 29 A
BT /8 36243tk 0 108 I
AEFRAR % 43058 #Hkksokkk( 778 =it
ikaEa g'8 4307 0skkk5%4026 TR
fry 2501 4 42118tttk 1 94X 2R
jeges 5’8 21 148kktoksiciokk 0626 A
=Y 7 2307 0xskkkkkx%0028 =i
T Iy 1307 2skskskskskekekekk 0023 2R
ESU 7 3T120%kkkAkkk4 354X =it
M 1 32028 %k kkkk3k2526 e U
FEE Ay 3411 8ksksksiokokokok 5427 A
TR i 4101 2ktkrt:004 1 =it
o 574 23020kstkrk0824 =it
[ {431 5 37028kkstskotonsiok 1 526 EaR=aT
B4R 1 6201 2tttk 2622 e U
LR 7 410305k kkkk4k0023 =i
A 5/ 37108 skkkak3x0022 =it
F1E 5’8 3203 2skkkotoksickokk 8683 A
=32 g'8 51101k 6248 TR
i Iy 3715 2skskskskskskskokok 2745 2R
¥ u 1423 0kkskakokx 2928 =itk
A 5’8 1307 2%kt 0028 e
B 5’8 13052%kskkekotokx 272X A




PR 4 i 3715 2tkkdoiontor(424 BT

T i 3207 2%kkkk4% 1028 =it
TR % 140 10skskskkk444282 1 =
A= E‘8 3201 Itttk 1645 =itk
K A %« 37158 wkipkionik(092X AR
F I 1 5101 0skskskkonk4424 AR
O % 4307 Zieieieirrk 3046 e

S i 14263 %ksakkr% 7723 =B

53] E‘8 410924 kkekekkekx5420 =itk

i 15 g’8 51018#kikionionrk5324 AR
£ E 7 1201 0ksokkor 3525 =itk
TR % 3601 0teteteieeiik0021 E
(TS /8 3711 2%kkpkikkx5443 EIE
i1 g’y 32030tk 3223 T
A % 42900k skskkkx5149 TR
2499k I 4107 0sskskskskskokkk 2062 A
T % 21020%kkkk45%6527 =it
AR 75 2 i 51010tk 1823 =itEBE
i — 5 5101 0%kttt 1 413 A
BISEE 5’y 42108skskekseitoniek0025 FaReaT
ity % 51062k#kkpk %0229 AR
Moo g8 1407 2##58k555%0068 TR

F 1 15020sksksksototeokk 21 29 =i

s 1 3501 Sskskskskskskskokok ] 827 2R
(ETE I 14240%kkskekekekokk6 326 A

ot g'8 51160%kkkk4k%T7206 TR
# N A 7 13060skskskoksisor 0328 e U
% I E‘8 D 1078+sdsdkoleolekk 94 22 =itk
ANz 1 52240skkssstokkk 7064 E

KBk 7 3709 skt 0848 =itk




e 5 3401 0kkkkskkx%4515 E e

e 5’8 3601 2%kksskokokok 1626 A
P 1 51092%ksksksksiskskok 2262 A

x| g'e 51100#kkkkkk4%5825 iR
Tk 4 14223tttk 224X AR

ghpes 5'e 15263 #kpk85%3020 AR
el i 51302sskkkkx0021 =B
H-3mms 5’8 3303 0ssktotoroksiokk 482X e

e % 34262k pkkkx2964 AR
ES B %« 14010tk 1 820 itk
T i 4504 28k k4459 022 =it B
X 1 4 33062%kkkk4%4 26X itk
PRI I g'8 445228k pxkxk5%1827 EIE
Bt —F g'e 51162%kkkk4k4%0028 iR
= 5’ 50023 ksektersokk 3523 FaR=aT
EHEIE g'e 320203 kskskoksotek 3026 =itk

e 5 130405kt 1 839 e
XI55 5 130223kt 00 34 =itk
SR L 32132kkkkkxkk0216 FaR=aT
51 g78 43062 k0k k48 32X itk
7 2 1% g'8 21138kiopkiorkx 224 TR
BRSSP 1 37028%kkskskstesiskok 1025 s

i i 4301 2%kskk3x4%5 160 =itEBE
T LN, 5’y 4104 2skskskteorsiok 6027 FaReaT
i 79 0 5 33050skkslototkok 3025 EaR=aT
SEIRE 7 3129 2% x4Akkk k4924 EaR=aT
e 1 51382:%sksksksisisksksk ] 849 A
et % 13098 ksskkekkkk1036 EaR=aT
5t Bk 8 21100%kkskkxk% 334X FaReaT
feT 7 4107 2skktictokok 2521 =itk




]
U E48 3625 Jsksksktokstoksksk 2022 PTR
3507 8kkkskskkkkk(0236 PN
o % it b
3307 8kskskskstokkkk 4928 PNy =
— " itk
3701 0kkskskokokkk 2928 A e
e % = T
7 6103 0skkskskokskskskk4229 A, e
p— % A
2201 8kkskststskskkx (022X PN
T % it b
42280 kkkkskkkk064 3 NS
BT ﬁ itk
37068k kkskkkkx%0045 PNy
S ﬁ itk
51102%kkskskkkkk8945 PN
T % it b
1309 2skskskkskskokskk (0422 PNEE
o % 2R
3601 2kkkskskkkk k2466 A e
AT % = T
1401 0skkskkskokskoksk 1 825 NSy &
B % itk
5137 2kkkskskkkk%4 260 Dyt
ﬁ{‘ = V7P
& % 32132tttk | 449 P
P - it b
=]
73 3303 2%kkskkskkadkk 005X NNy £
s % Sl
1201 0sksksrskskstorsksk(004 7 PN
WER % 1R
50022skskkskskskkkk 770X Ny =
F—. X A=A
N 5130 3skskskskskskokokk 3029 PRI E5
- % it b
3706 Iwksksoksrskskk 2240 A
Sl =2
55 155 '8 41142k k555554868 P
e 2 o1t bi
3208 3skkskskrkkkx (008X A e
_— % = T
42102%kkkkkkkx 8722 PNy =
o ﬁ E T
5201 2skkskskskokokskok 1 308 Lz
— =T P
i % 21 122%%skk%x5%%2820 T
fryT % A=A
3601 0kkkskskkkkk 1026 PN
[ P A
2101 0skskskskorskskk09 1 1 A e
e % it b
33082k kkskskkatokk (002X Dtz
%8 =
T b3 51390skskskteksieskoksk 3513 P
e % it b
34088kskkskstkkkk532(0) PNy =
P % - AR
224k \
FHHT401 L




,fu ‘E!LEJI\:/\
Al LR E48 1303 2skskkskskskokskk 0024 PN
fT— ﬁ it
51102kt 0080 PN
. % =it
50022skkkskskkkxk004 1 Ny =
B p Sl
5101 0skskskskskskskk 1 262 A e
AR R & itk
6501 Qskstksstokskokok (0029 PNy =
Iy ” S
43250%kkAkk4% 0024 PN
- 212k
L H 5
73 5101 2skskskskskskkkk493 1 PNy =
oy A=A
2R 4
1304 8%skskkskstokkk (0436 PNy
g ﬁ itk
6403 2kkkkskkkkk(0022 PN
. % it b
14040%kskkkkkkk 1627 PSRy &
e ﬁ it
5101 0skskskskokokskok 1 788 Lz
P =T P
| —Fk S 21 100skkstsksktstesksk 0327 P
PR X itk
50024 kkkkkkkk5667 PN
PR P it b
37052%kkskskkkkk2017 A e
ey % ot b
11022%skskskskskskkx (0022 PNy =
o ﬁ A=A
3501 2skkkskskkkkk 0080 PN
— % it b
33028*kkkskkkk 43686 NNy £
s X R
1427 0skskkskskskorkk 2123 PN
P % it b
5001 0sksksksksrskkokk6584 Ny =
P % A=A
1303 0skskskskskekotsksk 1 129 AN, e
Tt ﬁ it
5101 0skskskskskskskk 1 268 A e
P % it b
3723 2%k4k4kxk%x4006 PN
41282%kkkkkkk %2468 PN
A - it b
73 5002 3skskskskskokskkk 4858 Ny =
B = A=A
36030kkkskskkkkk 3012 PN
P, P A
41052k kkkkkk%9377 A e
rn % = T
51132tk (002X Ny =
2101 8kkskskskokskkk3119 PN
— - it b
J7 3203 2skskskskskskskkk4 216 AR
——, % - s
Sskskkk \
3226 St




FH Y B
Z % 4107 1 %skksokkiok 1 020 Do e
4211 2%skkkskskokokk82 12 Lz
oy =T
T 5’8 231 1 2otttk 4642 P
e . A=A
51068%kkkkkkkx(23X A e
— % it b
51152skskskskskskskekok ] 780 PNy =
s X A
21028kkkskskkkk4 329 PN
— % it b
= 21022%%kskskkkk%0265 NS
P, % it
1305 3kskskksteskskkok 004 1 PNy
o % SR
51150skskskskskskskk 1 707 Lz
. =T
12547 3 32028 kkstksokksk 7275 P
— ﬁ it
AW 14262%kkkkkkkk 3327 PRI E5
- % = T
41282%kskdkk4%2449 PNEAWN
- = itk
33050kkskskkkkk 3012 PN
— % =T
4107 0%kkkskskk3kk 052X D2
— =T P
fei AL 7 5101 2skkkskskokokskk 5228 Y A5
R = VTPt
TR 8 13062skskksiokokokk (0424 P
%}RE % 21 2R
21021 ksksksksrskatokk 1020 NSy S
ep— % itk
1201 0sksksrskskstorsksk 7029 PN
A % bR
37040k kk4kk61 21 PNy
G ﬁ it
4401 0%kskkkkkxk4026 NSy S
T ﬁ A=A
1404 0%skskkskskokkk 2427 A e
PP, % it b
5131 2skskskskskskkkk (0022 PNy =
o % E T
65220 *kkskskskkkk 1621 PN
— % bR
21092kkskskkkkk(0525 NS
. X R
5221 2%kkskskkkkk 1625 PN
SR = A
33020 kkkskskkskkk 2425 Lz
r— =T P
% 11010kttt 3323 P
- 2 o1t bi
32100kkskskskkkk 1120 PN
P % it b
33062%kskkskkkk k7768 NNy £
#/AK g 50022 S

***** > AL}

Forkkd 148 45




% 3508 2skkskskotskedtk 2228 PETR

- = itk

4307 2kkkkkkk%k%0030 PN

B % it b

32068kkskkk4kk9 (024 PNy =

P ﬁ itk

3601 0skkskskskorokskk4 32 1 A e

- % A

51132%kkskskokokskek 1123 PN

o = A=A

33100kkskskkkkk(0633 PN

P % it b

3303 2skskkskstokokokk (729 PNy =

2{1_\%%" - z:ﬁ‘%ﬁﬁ;

73 43090%kkkkkk4%24 19 PNEAWN

o ﬁ it

3713 2kkskskskorokokok | 821 Dyt

- =T

Ed E'8 211025k 532X P

— % it

5001 0skskskskokskkk8927 A e

prosen % = T

2107 Lkstokskstokekokk 5029 PNy

;’ﬁ?g X A=A

50022kkkkkkkx(0024 PN

R, = =iFR

3601 0skskskstsrskskkok 1 524 A e

— % 21 2R

3501 8kskskskstokakokk 1606 NNy £

e % it

4401 0%kkkkkkkk5448 PN

S, % 1R

2101 0%kskskskskskkk k4929 NSy S

%EPFﬁ?ﬁ ﬁ z:ﬁ‘%ﬁﬁ;

4307 2%k k4863 PN

—— - it b

73 3714 2% kskskk3kk%54 1 3 Y A5

Xl CrE = -

IEWS 1= S 32060k kskkkkk 002X P

14118kt 0044 A e

o % =R

51382kkskskskskskkk (0022 NS

1305 3skskskskskekokskk 4080 PN

— . = T

5002 3skskkskskorokkk6249 NS

B X itk

4205 2kkkkkkk0024 Lz

PRp = V5Pt

5 da ik % 33080skskkskskskskoksk 5514 PNEATN =

. % = T

3607 8kkkskakkkkk 4626 PNy =

T ﬁ A=A

3604 2kkkkkkkkok 1024 PN

[ % it b

5101 0skskskskstokskkk(0768 PNy =

Pape % o AR
At 2kckkok )

HHHIR2608 L




XI| 5
B 7 13010k 2463 PETR
s ﬁ A=A
3624 2xkkkkkkk k(082 1 PN
T, % it b
i 1304 2skkkkskekekokx(0020 PRy £
. ﬁ itk
33062kkkkskkkkk4248 A e
By % A
6103 2kkkskskskkkk(0562 Y A5
[ = L
JL 7 41030ssskskskteketek 0020 P
— % it b
51382kkkskskskskkk (0023 NS
e - it
73 21020%kskkskokedokk4774 A
%.:‘ fr S = P
it % 1101 0skskskskskskk:0922 PN
- - it b
73 3607 2kskdkkkkkx2236 P
— % SRR
51300skkskskskkkk(004 7 A e
— % it b
4104 2%kkkkkk%kx2262 PNy =
5001 0skkskskstorskskk 5389 Lz
T =T P
HE 7 37020skskskksksieskoksk 3923 P
- . = T
- 3604 2:kskkskskkkkk 252X A
N ‘E‘j‘é - fD
ft E‘8 3424 25 kskskkksk 1 625 P
— % =it
41050%kkkkk%%k%5009 NS
R p Sk
3204 8kkkskskokkkk 7428 PN
= . = T
S 14030s%kkkkekekeotokok 1 625 A e
X % i
23900skskkskskkskkk 2523 PNy =
EE;@ ﬁ z:ﬁ‘%ﬁﬁ;
4206 2%kkkkxk%%0026 A e
S % = T
51302skskskskskkkoksk | 862 PNy =
g = A=A
13068kskskkskskoksksk [ 258 PN
. - it b
73 37 158%skskskstokedokk4 777 NNy £
—— = it
3503 0skkskskskskkkk(033 1 PN
s % 1R
1304 3skskskskskotorsksk 7320 A e
T % it b
13092skskskkskskokkk604 3 NS
=3 ﬁ A=A
2304 2%kkskskkkkk3327 PN
— % it b
41282%kkkkkkkk446 1 PNy =
— % - R

07 0skskik \

aiok1246 L




REH

= AN E48 37068kt 00 26 PTR

et ﬁ it b

53290skskskskkkkk 376X Lz

. =T

i A £’8 51060%kksksksiskokok 244X P

% 51162sksksksk5x30045 P

—— % it b

44020%kkkkk%k%k 032X PNy =

ToiE X A

1427 Qsksksrskskstorsksk | 249 PN

B % it b

41050tk 102 1 NS

o % itk

21 100%skkkskkkk0824 PNy =

s 2 o1 be

23102kkskskkkkk0320 PN

o - it b

77 42102skkkkskkk3kk 7537 PN

pa— ﬁ 2P

34262%kkkkkkk k6848 A e

i % it b

3422 2%kkkkkkkk 1627 NSy &

E— X it

41022%kkkkkk%kk0 1 8X PN

e = 1R

2101 0kskskstskskkk 3325 A e

_— % it b

41040%kkkkk%k%k556X PNy =

ey % A

5131 2%kkskskckskkk 2723 PN

PRy % SR

1301 0skkskkskokskoksk 1 529 NSy S

i = it

3303 8skskkskstkoskkok 1 713 PN

S % bR

32068kskkskkkkkk 5223 PNy

{é%fﬁ@ ﬁ z:ﬁ‘%ﬁﬁ;

32102skskkskskkkkk(0922 Ny =

fr— % R

3505 2kkkskskkskkk 5542 A e

I % it b

51390kskskskstestsksksk 1 14X A

o ﬁ A

37068 kkkskskkkkx 2224 Lz

i =R

FRE §’8 5101 2sksksktekstikskd 1 27 P

- . it

32028kkkskskkkkk(027 1 PN

- % o1t b

1306 3kskkskskskokk k0023 A e

[re— % it b

4304 2%%*kkkk%k%%0386 Ny =

R ” Sl

5001 Issksksksksrskskk (002 1 PN

E ” = T

5002 3skkkkkkkx2406 PN

Rl % o R
28k%kk \

FHH018T L




HETL 1 4113 2sksk4884k0 726 E e
B 7R i 1401 0sotsssronsk 0645 =it EBE
Akt Iy 4114 2s%kskskskkokokk 1026 2R
Ji e 7 03092kkkkkkk %2620 =i
e i 41022%%kkxkkkx354 1 =itb
GIEES 7 3301 24kkk4kk k40024 =it
PV 2 1 2101 Ikksiokkokd628 =R
ISTES g’y 52222tttk | 620 E
P 5 62050tttk 0020 EaR=aT
W %5 4 5’8 321 32skskotekeieiokok00 20 22
E =5 e £’8 41002 k*kkkkk4k6522 =i
Fin 5’y 2104 0skskctorsiokk 2022 FaR=aT
KM 5’8 33022k kkskstksksk 004X A
Pk £ 5’8 37088kkkkoksickokk 4265 A
TR Bk 8 3301 0skkstkaksioiok 1 626 e
G 5 33038skkstolotototor 1 442 EaR=aT
s Iy 2205 kskskskskskokokok 3668 2R
=] B 5 6104 0skkstsiotorsiok05,20 EaR=aT
5 2 3] 5 3204 kskskskskskskokok()7 17 2R
W45 T 1 35030%kkkskkkk 1424 =
[ 5’8 3504 0skkekteorsiciokok 0046 A
AEH i 41040%8kk8k5%5529 =B
X194 9w 34250skkstsotonsiok0270 EaR=aT
W5 35 1] 1 21020844k 2206 AR
H-45 bk 9w 5101 Qseltstoletetook 1434 EaR=aT
INER 5’8 2102 Lekstersictoksk 0027 A
B Iy 6204 0skskskskskskskokok 0020 2R
A g'8 14240tk 1429 TR
XI5 JfE 'y 37028kt 0066 E
Wiz 5 36222skktotonsiok0049 EaR=aT




T B 7 3501 Qstestetsiseorsior | 528 =R

i) 5’8 1521 2%kt 1 820 A
B Iy 33900%kskskskskoksksk 0620 A
25 14 4 5 1401 0otttk 252 1 EaR=aT
=Y g8 51150%#kkk44%8465 TR
BERET 5'e 3501 8tk 1585 AR

IR 5’y 51192kttt 0086 FaR=aT
BT 5’ 2301 kst 0049 FaR=aT
e 1 37090skkskskoksickok 3340 =it
EAVGH] 7 3601 2skkotsiooniokd 8211 =it
TR 7 33022kk44%x%0020 A
R 5 3201 0sksoletersiokek 321 5 FaR=aT
(G iyt 7 411305k k4kk4%0065 A
B BE 7 13108kkskkkk4kk026X A
29 25 i 14262+k#45554%002X =it
TG £’8 3004 2kkk4kkx%0027 A
2 32 5 1201 0ok x40 16 itk
¥ 2 5 51392skkstolototokok 5423 EaR=aT
T . Iy 3205 0skskskskskskskokok 0260 2R
S 5 3201 stttk 0022 e U
25T 5’8 5111 2skkkeksickokk 0663 A
B} 7 4 3522 2%kkkkkkk 5527 e

e I 37 152skssteketsieoksk00 20 A
W 7 36252skktotokek 1 723 e U

FHR 5’8 5138 2skkektoksickokk 8825 A
G ARAT 7 0 1390skkkskkokok k6723 A
25 {54 578 42080%xkkk450024 =B




